BUESN 10K 5209

SLAHBEIS VY FF

EHEGE LARBEIS VY

RF

BHEGISART

Al
\

&/

RUAHTST STF

i
AL IEED D d | BF | BF |
_ g 8 ’ f R | @
103 | % | 178 12 | 12 | 6 | 1 o | e
15 | % 9 | 222| 12| 12| & ‘ 1 |Ret| 27
20| % | 100 | 277| 14 | 14| 56 | 1 |Rey | 33 |
25| 1 | 125 | 46| 14| 14| 7| 1 |Rot | a1
32 | 1% | 135 | 432 16 | 16 | 76 | 2 | Rely 50
40 | 1% | 140 ‘ 4901 16 | 16 | 81 | 2 !Ficﬂé 56
50 | 2 i 155 | 611 16 ‘ 16 | 9 ‘ 2 [Re2 | 69
65 | 2% | 175 | 771| 18 | 18 | 116 e ‘Rc2‘x§ 86 |
80| 3 | 185 | %0| 18| 18 126 2 |Rc3 99
% | 3% | 195 ’102.5! 18| 18|13 | 2 | - 2
100 | 4 | 210 1154| 18 | 18 | 151 2 Ro4 | 127
| 125 | 6" |.260 |1412] 20.| 20 182 | 2 | ~— -
150 | 6 280 1666 22 | 22 | 212 | 2 ‘ - -
200 8 | 330 (2180 22 | 22 262‘ 5 o B |
| 250 | 10 | 400 12695 24 | 24 | 324 | 2 ‘ - r - |
a0 | 12 | 445 [3210| 24 | 24 |38 | 3 | - | - ‘
‘ 350 | 14 | 490 (358.1 26 | 26 | 413 | 3 | - _
‘_ 400 | 16 | 560 4090 28 |Eﬂ s | 3 __i_~ E __‘

451 »

Tam [ SRl
28 | pug BRY [ Fub xup [gur [F0E
Tl | |RoE|Ros oz |oBU
R i | oY
= | =] o= | 65 | 15 4 M2
6 | 4 3 ‘ 0 | 15 4 ‘ M12
20 4 4 | 7 [ 15 4 | Mi12
20 4 4 | .9 ‘ 19 4 | M6 |
22 | 4 | 5 | 100 | 19 4 | mie
24 | 4 ‘ 5 ‘ 105 ‘ 19 | 4 ‘ M16
24 4 | 5 |10 | 19 | 4 | wmis
AW ‘ 6 | 140 19 4 ‘ M16
0 | 4 6 | 150 | 19 8 | M6
- | - ‘ - | 160 ‘ 19 | ‘8 | wi
% 4 | 6 ‘ 175 ‘ 19 | 8 | w6
= | 6 ‘ 2105l 8 ‘ M20
= | = | 6 |20 | 23 | 8 | M
= I i ‘ 6 | 290 | 23 ‘ 12 ‘ M20
- = ‘ - a5 | 25 | 12 | me
=¥ o ‘ 400 ‘ 5 | 16 | M2
- | = | - lwms | 25 | 16 | m2 |
o e l 510 | | 18 M24J




FUOEH 5K 259

TLARBEDOSVY FF

BFUE
A | B
10 | %
16 | &
20 %
2 | 1
32 | 1% |
40 | 1%
50 | 2
65 | 2% |
80 | 3
9 | 3%
100 4
125 | 5
150 i 6
200 | 8
250 ‘ 10
300 | 12
350 | 14
400 \ 16

75

80

85

95
115
120
130
155
180
190
200
235
265
320
385
430
480
540

A Bz
d t
17.8 9
22.2 9
277 | 10|
345 10
43.2 12
491 | 12
G 14
774 14
90.0 14
| 1026 14
1154 | 16
1412 6 |
166.6 18
218.0 20 |
2695 | 22 ‘
2o | 2 ‘
| 3se1 | 24|
| 4090 | |

24

IS4 RIS/Y BF

Rc 1%
Rc 3;
Rc 1

Re1% |
Rec1ls !
Re 2|
Rc2' |

Rc 3

Rc 4

INTOR
IER
a

27
33
41

56
69
86
929

127 |

452 »

RUAHTSY STF

| Tam RaTa .
. DxE A b HIb b FILk FKIL b
i nEL | RO | oxs | 06U
‘ i} i : D |
- 55 12 4 M10
} 4 60 12 4 M10
4 65 12 4 M10
‘ 4 75 12 4 M10
4 90 15 4 M12
4 95 15 P T
‘ 4 105 15 4 M12
4 130 15 4 M12
4 145 19 | 4 | M6
i = 155 19 ‘ 4 | Mi16
e 165 19 | 8 | M.
- 200 19 8 | Mis
- 230 9 | 8 | mi6
= 280 23 8 ‘ M20
- 345 23 12 | M2
T 390 23 12 ‘ M20
- 435 25 2| M2
' = 495 25 16 ‘ M22




